Name

Date

Period

O

The I gle is t
the scale factor of the dilation centered at the polint (0, 0)?

A 4
!1

D.

4l ’

to create the larger triangle. Which of these is

Yz

N

Analytic Geometry

Milestone Review

<L sand castle mold Is in the shape of a cylinder with a diameter of 6 inches and a height of 8 Inches.
To the nearest cubic Inch, how much sand will fit in the sand castle mol
Yyour answer. Write your answer in the space provided.

V=nrn
D)
- ti;m in®

aine segment CD is 5 inches long. If line segment CD is dilated to form line
N Ement C'D’ with a scale factor of 0.6, what is the length of line segment ¢'D'?

5(.@:@_

d? Explain how you determined

|

A aa}"ﬁ“"{;:

|

0

)

Part A: A graph of a quad fi the points (-2, 0), (0, -12), and
(3, 0). Alisa made a mistake when writing the explicit formula of the equation of the
quadratic function. Her work is shown below:

1 used points (-2, 0) and (3, 0) to show that
function, giving y = a{x - 2)(x + 3).

1 used the point (0, -12) to find a.
12=a032)0% 3)
-12 =-6a
2=a
So, the equation of the quadratic function Is y = 2(x 5)()(-—!- B)ory=2x2 % 2x -12.

Describe the mistake that Alisa made. Then explain how you could correct the
of the quadratic fi lon. Write your answer on the lines provided.

Tne fachrs Shoud pe (D3 (x-3D,

(x =2) and (x + 3) are factors of the

N
XD (x-2)

Part B: An object Is launched and follows the path expressed by the function

h(t) = -16t2 + 16t + 32 where h is the height at ¢ seconds. Find the height, in feet,
of the object at 1 second after launch. Explain how you determined your answer.
Write your answer on the lines provided.

N = — DT HFlulNTde

“led+ b ¥
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—’ @hich transformation results in a figure that Is similar to the original figure but
has a greater area?

A. adilation of AQRS by a scale factor of 0.25

B. adilation of AQRS by a scale factor of 0.5

a dilation of AQRS by a scale factor of 1

Jla dilation of AQRS by a scale factor of 2

a. Determine the center of dilation. Y, ’)_7 A |

b. Determine the scale factor of the dilation. llg= 1/

¢. What is the relationship between the sides of the pre-image and the R
coresponding sides of the image? Tywe Sickes o6F +wu Pre-i mage

Are +nice mi!ur\g %PC\JQUUL o Hag
Sraga g F— moye.
7N\ _
[ the coo plane, PQ s the result of a dilation of segment X¥ by £U|n the triangles shown, AABC is dilated by a factor of Z to form AXYZ.
scale factor of %.
A
S0° X
10D° HO° 2n°
h 0D c ), ,

Given that mZA = 50° and mZB = 100°, what is mZZ?

A. 15°
B. 25°
30°
ich point Is the center of dilation? D. 50°
-4, 0)
. (0,-4)
C. (0. 4)

.
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Parallelogram FGHJ was translated 3 units
Parallelogram FG'H'y’ was then rotated 90'd
obtain parallelogram F'G"H"y",

own to form parallelogram FG'H'y,
counterclockwise about point G to

Which statement is true about parallelogram FGHJ and parallelogram F'G"H"J"?

EThe figures are both similar and congruent.
B. The figures are neither similar nor congruent.
C. The figures are similar but not congruent.

D. The figures are congruent but not similar.

\ wnslder the triangles shown.

F E

Which can be used tb prove the triangles are congruent?

A. SSS
B. ASA
C. SAS

TB] ms

In this diagram, DE = JJ and ZD = /J.

E I

D H F J

Which additional information is sufficient to prove that ADEF Is congruent
to AJIH?
A ED=TH
oA=F SRS
C. HG =Gl
D. HF=JF

wn this diagram, CD is the perpendicular bisector of AB. The two-column proof
shéws that AC is congruent to BC.

C
A D B
3 g
1 CD Is the perpendicular bisector of AB. | Given
2 AD = BD Definition of bisector
3 CD=TDh Reflexive Property of Congruence
4a £ZADC and £BDC are right angles. -Definition of perpendicular lines
5 ZADC = £BDC All right angles are congruent.
6 AADC = ABDC 2
7 |Ac=8BC CPCTC

Which of the following would Justify Step 6?2

A. AAS
B. ASA

SAS
D. Sss
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Which information is needed to show that a parallelogram is a rectangle?
A. The diagonals bisect each other.

The diagonals are congruent.

C. The diagonals are congruent and perpendicular.
D. The diagonals bisect each other and are perpendicular.

(3
at quadrilateral ABCD.

c D

Which information is needed to show that quadrilateral ABCD is a
parallelogram?

A. Use the distance formula to show that diagonals AD and BC have the same
length.
B. Use the slope formula to show that segments AB and CD are perpendicular and
segments AC and BD are perpendicular.
B;Jse the slope formula to show that segments AB and CD have the same slope
nd segments AC and BD have the same slope.

D. Use the distance formula to show that segments AB and AC have the same
length and segments CD and BD have the same lengths.

Consider the construction of the angle bisector shown.

X

Which could have been the first step in creating this construction?

A. Place the compass point on point A and draw an arc inside £Y.
B. élace the compass point on point B and draw an arc inside ZY.

Place the compass point on vertex Y and draw an arc that intersects ¥X and YZ.
D. Place the compass point on vertex Y and draw an arc that intersects point C.

~

Cansider the beginning of a construction of a square inscribed in circle Q.
/} Step 1: Label point R on circle Q.

Step 2: Draw a diameter through R and Q.
Step 3: Label the intersection on the circle point T.

R

What is the next step in this construction?

A. Draw radius §

B. Label point S on circle Q.

C._Construct a line segment parallel to RT.
onstruct the perpendicular bisector of RT.
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n right triangle HIK, 21 s a righ
trianglo FUK st b sy right angle and tan ZH = 1. Which statement abouq

In right triangle ABC, angle A and angle B are com

of cos A Is —_— What is the value of sin B?
. 1

sin ZH==

A 2

[_‘Jsm £H = cos ZH

B. sinZH=1 K\
i ./
D. 5inéH=.; - 7y -

COSZLH v
SincH= %
X2

- X

(0§ < H= X

ot air balloon Is 1,200 feet above the ground. The angle of depression from

g against a building at a 75° angle with the ground.
e basket of the hot alir balloon to the base of a monument is 54°.

Which equation can be used to find the distance, d, in feet, from the basket of
the hot air balloon to the base of the monument?

in54e=—9_
A. sin54 =1200

1200
54°="r
sin

o d
C. cos54 = 1500

1200
d

Which equation can be used to find how high the ladder reaches up the side of
the bullding?

A sn7e=i2

B. t@an7?: o= 12
x

X
o =
C. cos7! i3
D. cos54°=
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n circle P below, AB is a diameter.

A

C @o
If m£ZAPC = 100°, find the following:
a. msBPC = E(1F

— ~
@NQ is inscribed in circle O and mpg = 70°.

Q

N

a. What is the measure of ZP0Q? ] ()°
b. What is the relationship between ZP0Q and £ZPNQ? m2POQ= Lme(fre

b. mZBAC - 40°
c. mBC =] c. What is the measure of ZPNQ? 2%
d. mAC = [15)>2

‘\ circle P below, DG is a tangent. AF = 8, EF = 6, BF = 4, and EG = 8.

y|

(o

A D
Fnd CFand 6. $(CF)= (). 1 D&?: 8 Q\@
CE =3 DG=1

> — —

@is circle, AB is tangent to the circle at point B, AC is tangent to the circle at
point C, and point D lies on the circle. What is mZBAC?

4L =140

WA a4 PaZzldy
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_ Cixcle A is shown.
o

o ()PED D V= YamrrZh
A o g AM m = Vo (M 19)
= 3 oot om®

here has a radius of 3 feet. What is the volume of the sphere?

<@P V= Manr

- U (3)

7/;\]«: inder has a radius of 10 ¢m and a height of 9 cm. A cone has a radius of 10 ¢m
and a height of 9 cm. Show that the volume of the cylinder is three times the volume

of the cone.

o Cora

_rth
V- %mlm | V=l

-1l )

_ quofrom’ = amo* (),

3uoh &
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ave

constructed two cylinders using solld metal washers. The eylinders b

Jason
the same height, but one of the cylinders is slanted as shown.

|

Which statement Is true about Jason's cylinders?

A. The cylinders have different volumes because they have different radii.
B. The cylinders have different volumes because they have different surface areas.
C. The cylinders have the same volume because each of the washers has the

me height.
D. [The cylinders have the same volume because they have the same cross-sectional
rea at every plane parallel to the bases.

L
o) s . ,
ite .|=— in an equivalent form where no radical has a perfect square factol

and there is no radica@e
2

@wﬂte ﬁ(Jﬁ - J§)

(s -G
TP
@;@-@:

denominator.

20
= |

f;ﬁf’i
19

ff\
ite ,/(4p2)3 in an equivalent form without a square root. Assume that p is 6 Explain why the product = ¢ 5 is rrational.
non-negative. - 5/,\1

(oipe =3¢

ook at the expression below.

(5+v2)+2¥2 = ©+23{2

Is the value of the expression rational or irrational? Explain.

IMrationed  blc (T 1§ 9

' ‘ # (non ~perfect
\ran oN fguae

—~

(Gh

1S drveX onod- L Nnon- +Umimjn‘v~&
B novMm v W@Jﬁ oy A d vvst
Is the value of the expression J8 (545 + Ji) rational or irrational? Explain how you

found your answer.
= S5{Gur v
(ocnional ¥ Qufect S

Y

.
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F.
? ich expression s equivalent to /32 \/— 872

/\
B. 62 o 3
c. 2J6
b. 205 - 2T
p
/:% ich expression is equivalent to \[_ ? = 2.\[3
I 2B, 28 8 Y
INERINES LTT
3 3 33 6
2B BT b L
NES
¢3B*Ee th&,
2.3 _ aB, 383 /
W3 Em; T “

)

()

=
q‘ Which expression has a value that is a rational number?

A. V10 +16

B. 2(v5+7)
E@+ﬁ < pex Feor Yuowe S,
D. V340

97%!1 statement is true about the value of (J§ +4)- 47

A. It Is rational because the product of two rational numbers is rational.

B. It is rational because the preduct of a rational number and an irrational number
is rational.

C. Itis irrational because the product of two irrational numbers is irrational.

Lj It is irrational because the product of an irrational number and a rational num-
ber is irrational.

—
—

>The dimensions of a rectangle are shown.

3x+ 8

Sx+2

What is the perimeter of the rectangle if the perimeter of a rectangle is equal to the
sum of the lengths of its sides?

(S D) F 2(BYAT)
oxtu X1V

| Wexx20)

[—~

ewrite the expression (x* + 2x% —x) - (=3 + 2x2 + 6).

®
‘ 3

1K - -
ébhe dimensions of a patio, in feet, are shown below.

2x—3

(1) (2x-2)
de+ 1 OxEnx+1x-%

What is the area of the patio, in square feet? T
{X-lux=2 |
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I

L( Consider the expression 3n2 + n + 2, G
a. What is the coefficient of n?
b. What terms are being added in the expression?

f7 which expression ig the coefficient of the n term
A. 3n?+4n~1

B. -n2+5n4+4
2 -2 -n+5
ont n, 3 2 D. 4n2+n-5
{ ’ Factor the expression 16a2 - 81. L Yat+ad (4a-4 )
r .Se
@e expression s is used to calculate the area of a square, where s Is the side
_ ’ i length of the square. What does the expression (8x)? represent?
Pactor the expression 12x2 + 14x — 6, q><z A. the area of a square with a side length of 8
A (UxH+ 1x-2) L

B. the area of a square with a side length of 16

C. _the area of a square with a side length of 4x
LU? Xl + g g@ 1X - 5) he area of a square with a side length of 8x
IXCLXHD) - [(1xtD)

[20x-DUwD

L
rite f(x) = 2x2 + 12x + 1 in vertex form. g What are the zeros of the function represented by the quadratic expression
2 y l X2+ 6x-27?
U-1l= 1+ 11X

_ (-9.0) % (%.0)
18 4+7Y-1 = 20xrex+2) (X% 57
yrin= 7/(\0’5)2 =-9,%

B/, 7 () ~

S L> What are the zeros of the function represented by the quadratic expression

2x2 - 5x-3? ,7(,Q 3
' 0
e function ht) =t + 8t + 2 represents the height, In feet, of a stream of water Z5 (_'\/ln D} % (3,
being squirted out of a fountain after t seconds. What is the maximum height of the ) H[ i~ 5)
water? VXK= MO\X XY= —_b__; -9 -y Q«X 'U%
/0](/ " -~

L-3) 13D
Y= (NI +2 = (LxkD t*'am
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ch of these Is the result of co

mpleting the square for the expression

A Ext e = 30+
(X+DE = UL

) (xrHs 1L -0

C. (x+8)2-30

N

(sb

-\
2
@rmula for the volume of a cylinder is V = nr*h. N

—_— =2
a. Solve the farmula for r. N nwwn -~
b. If the volume of a cylinder is 200 cubic inches and the height of th

8 inches, what Is the radius of the cylinder?
r= (%5 75 B
‘ormula for the area of a clrcle is A = wr®. Which equation shows the

0du9)

L —<

formula in terms of r?

T\
e product of two consecutive positive integers is 132. A. r=-2;§ w0
a. Write an equation to model the situation. > (X+1) =272 VA A >
b. What are the two consecutive integers? Bre% ‘?;’ 2 \(r-
KLl -122= O W, 12
i) (D=9 ook
Y=, 1) v
(’; e 7
F/golve the equation x2 — 100 = O by using square roots. 7] /J'u object Is thrown in the air with an initial velocity of 5 m/s from a height of
T 9 m. The equation h(t) = -4.9t2 + 5t + 9 models the height of the object in
X 2_ ! D ®) meters after t seconds.

gw'hat are the solutions to the equation x2 - 5x = 14?
A x=-T,x=-2 )<’L,6X —|‘4>O

B.k=-14,x=-1
C.Ix=-2,x=7 (_X”D (% +7)=0O
X=hs

D. x=-1,x=14

About how many seconds does it take for the object to hit the ground? Round
your answer to the nearest tenth of a second.

A. 0.90 second
B. 1.50 second

. 2.00 seconds
D. 9.00 seconds

—yap? oty 979

-S5F
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h is the height in feet.

b. When will the ball reach a height of 50 feet?
¢. What is the maximum height of the ball?

d. When will the ball hit the ground?

€. What domain makes sense for the function?

ST He3t - HeEO
Fen-d(-16) (4
2 (-l

= Laagcec s aansed

fo-lax

The function that models this situation is hi
measured in seconds and h Is the height in

O<t<5
. O0<t<25
C. all real numbers

Aball is thrown into the air from a height of 4 feet at time t = 0. The function that
models this situation is h(t) = -161t2 + 63t + 4, where t is measured in seconds and

2 +d= UF‘}'
a. What s the height of the ball after 2 seconds? ~1w (2 )+ L3 L2 b

P) —lpi? +LBtHH=SO ) -lue® Fudttd=0

L2 BEA L) (S

210

¢) D2tedy

height of 25 feet at timet=o0,
(1) =-1662 + 75¢ + 25, where tis

feet. What values of t best describe
times when the disk is flying in the air? .
[ A. i

D. all positive integers _ \(9 t’— Yot +1=0

5k @6’ LEALWAY) .
Vo Ndee TR

’L(—— \(a)

This table shows a company's profit, p,

in thousands of dollars over time, ¢,
in months.

| Time, ¢ Profit,
7 (months)

Xt o>
. (el ™
a. Describe the average rate of change in terms of the given context” Q

b. What is the average rate of change of the profit between 3 a

nd 7 months?
C. What is the average rate of change of the profit between 3

and 24 months?

; LLlT-1% Koq
b) bb-13 4 N —— %1 9
) == 7Y ) ra-z ~ 2 @

What is the end behavior of the graph of f(x) = -0.25x2 — 2 +1?
A. Asx increases, f(x) increases,
As x decreases, f(x) decreases.

As X increases, f(x) decreases.

As x decreases, f(x) decreases.

C. Asx increases, f(x) increases, %
As x decreases, f(x) increases, -

D. Asx increases, f(x) decreases.
As x decreases, f(x) increases.
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M- 5%y 10
KE-2%-10

Which function is shown in the graph?

fix)=x2-3x-10
B. fix)=x2+3x-10
C. iX)=x+x-12
D. fix)=x2-5x-8

at explicit expression can be used to find the next term in this sequence?
2,8,18,32,50,...
A. 2n
B. 2n+86 I
1 2 =
()2 —p 2012 , LD E, 2(3)7= 18
D. 2n?2+1

ﬂ e function s(t) = vt + h - 0.5a¢2 represents the height of an object, s, from
€ ground after time, t, when the object is thrown with an nitial velocity of v,

at an initial height of h, and where a is the acceleration due to gravity

(32 feet per second squared).

A baseball player hits a baseball 4 feet above the ground with an Initial velocity
of 80 feet per second. About how long will it take the baseball to hit the ground?

S(H)=QOE+ Y -, 5 (3742
= -ttt HROET H

—8OL [ U - Y16 YY) _

A. 2 seconds
B. 3seconds
C._ 4 seconds
D. /5 seconds

A

AL

e function f(t) = -16t2 4 + 5 models the height of a bai|
that was hit into
e alr, where t |s measure seconds and b is the helght in feet.

Is table represents the héigm, &(t), of a second ball that was thrown Into the alr.

~lbt? o4k 19= 0

64t
d in

Time, t Height, g(t)"
(in seconds) (in'feet) ~ut Ut~ q(-1 L) (_S)
n -_—
I zewy
IR q A0
o~

Which statement BEST compares the length of time each ball Is In the air?

A. The ball represented by £t} s in the air for about 5 seconds, and the bal)
fepresented by g(t) is in the alr for about 3 seconds.

B. The ball represented by f(¢) is in the air for about 3 seconds, and the ball
represented by g(t) is in the air for about 5 seconds.

C. The ball represented by f(t) is in the air for about 3 seconds, and the ball

A (- 1)

epresented by g(t) is in the air for about 4 seconds.
e ball represented by f{t) is In the air for about 4 seconds, and the ball

&presented by g(t) is in the air for about 3 seconds.

café's annual income depends on X, the number of customers. The function
I(x) = 4x®- 20x describes the café’s total annual income. The function
C(x) = 2x2 + 5 describes the total amount the café spends in a year.
The café’s annual profit, P(x), is the difference between the annual
income and the amount spent in a year.

Which function describes P(x)?
P(x) =2x-20x -5 Q—-}’)@-%O'X\)" ()—7()' {'6)
a 7@“ A OX— 5

B. P(x) = 4x3 - 2052
C. Px)=6x2-20x+5
D. P(x) =8x*- 4053 - 20x2 - 100x
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ompare the graphs of the following functions to fix).
N )

& 2 Yaniced Shrink WY 72

b. i0-5 duywin O

¢ -2+1 yight 7, wp L

D,

fix) =2x3 + 6x even.] odd} or neither? Explain how you know.
030 pdo

ow does the graph of fix) compare to the graph of f (%x)?

Nz Svarcn vy L

ich statement is true about the graphs of exponential functions?

A. The graphs of exponential functions never exceed the graphs of linear and
quadratic functions.

B. The graphs of exponential functions always exceed the graphs of linear and

quadratic functions.
The graphs of exponential functions eventually exceed the graphs of linear and
uadratic functions.

D. The graphs of exponential functions eventually exceed the graphs of linear
functions but not quadratic functions.

& hich of these is an even function?
A. fix)=5x2-x
B. f(x)=3x3+x

[Clim=6x2-3

D. fix) = 4x* + 22

“).5§)Which statement BEST describes how the graph of &(x) = -3x2 compares to the
1/ graph of f(x) = x2?

A. The graph of 8(x) Is a vertical stretch of fix) by a factor of 3.
B. The graph of £(x) is a reflection of f{x) across the x-axis.

C. The graph of 8(x) is a vertical shrink of f(x) by a factor of % and a reflection

cross the x-axis.
' D. Ehe graph of g(x) is a vertical stretch of flx) by a factor of 3 and a reflection
cross the x-axis.

( "7% table of values is shown for fix) and g(x).

i R

X
0 0 0 -2
1 1 1 -1
2 4 2 i
3 g 3 5
4 16 4 13
5 25 5 29

Which statement compares the graphs of f{x) and g(x) over the interval [0, 5]?

A. The graph of f(x) always exceeds the graph of g{x) over the interval [0, 5.
B. The graph of g(x) always exceeds the graph of f{x) over the interval [0, 5). .
0, 4], the graphs
C. The graph of g(x) exceeds the graph of f(x) over the interval [
interiect at a point between 4 and 5, and then the graph of f{x) exceeds the

gty f g(x) the interval [0, 4], the graphs
D. | The graph of f{x) exceeds the graph of g(x) over the in , 4],

Interiecpt at a point between 4 and 5, and then the graph of g{x) exceeds the

graph of f(x). £ .
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1. This scatter plot shows the height, in feet, of

a n
an Initlal holght of 3 feot and the thme il ball launched In the air from

Il traveled In seconds.

)

1o
100
90
s0
= 70
g7
= 6o
=
s
s
30
20
10
o
. Time (scconds)
Based on an quadratic curve, which is the BEST estimate
for the maximum height of the ball?
A. 75 feet
B. 85 feet
C. 100 fee!
D. 120 feet

(2N

Zaﬂéyquadratlc function f(x) = -45x2 + 350x + 1,590 models the population of
city, where x Is the number of years after 2005 and f(x) is the population of
the city in thousands of people. What is the estimated population of the city

in 20157
A. 45,000 45 (10)* +e0d OO+1710
B. 77,000

e 580,000 ’ 6
D. 670,00 0] O

=
){ at is the equation of the circle with a center at (4, 5) and aradius of 27

(- Fy-5Y = H

N\
-/l at is the center and radius of the circle given by 8% + 8% ~ 16x — 32y + 24 = 0?

K4yt - 2x— Uy+3= O E

Xr-1xrl -y =3kl 3
(x-N*+ Yy-D* =7 c L)
=NZ
Which is an equation for the circle with a center at {-2, 3) and a radius of 3?

A R+ +dx-6y+22=0 (x+2)* + Lkg,’35}: 9

B. 2x2+2y2+3x-3y+4=0 -
P+ +ax-6y+4=0 )\14-"\)(*"'\ M’L“AQ ra=
O

D. 32 +3P+4x-6y+4=0

e ,\,%7’4/47( "*o‘ﬁ‘kb\"/

?yhich point is on a circle with a center of (3, -9) and a radius of 5?

A. (-6,5)

B. (-1, 6) LX’571+LK'3M?\: Ao
c. @

B. (6.-5) (L3} (-or =15

=15
A +l=15
15=1°
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elect THREE equations that are true.

A (3x-2+7x.—4)+(x2+x+3)=4,\?-°-+8x—1

[B.(5x2~6x+2)~ (2%~ 4x + 1) = 3P = 204+ 1
C. (B +5X+4)+ (X2 +2x-5)=3x2+Tx—1
D. (6x*—3x-8)—(3x2+5x—4)=3x-2x -4

Ec(X+8)(Xx~9) = X2+ x— 72
sz-s)(x-7)=x2-1ox+21

] , A. 23 acres}

Joe counts 250 peach trees on 25% of the land he owns. He determined that
there are 10 trees for every 1,000 square feet of land. About how many acres of

land does Joe own?
1 acre = 43,560 square feet

B. 10a
c. 43.5:5’::res 50 h!'es _ 1%0 s
D. 2,500 acres W - ’X 472

0X= agovoe

| oere Xoc.

43, Bookt> ~ 10DOC
Jowvoo0o - L‘\’)\ Sb X

AX=R-3 0c.

quare pyramid is packaged inside a box.

Sinches

NER-A) =55
;%—(}3}(55 =25
= 4.7

The space Inside the box around the Pyramid is then filled with protective foam.
About how many cubic inches of foam Is needed to fill the space around the

pyramid? ~ g
A. 8 cubic inches 12‘5 4,7/ 96
B. 41 cubic inches
cubic inches
D. 125 cubic inches

Bicycle and Skateboard Ownership

Ouns a Bi;:ll:as/\aND = Z?c?fli ok
Blcycle patebeand Skateboard Skateboard
Ryan Brett Joe Amy
Sarah Juan Mike Gabe
Mariko Tobi Linda Abi
Nina Rose
Dion

Let set A be the names of students who own bicycles, and let set B be the names

of students who own skateboards. YA, Lose
A\ .

a. Find A and B. What does the set represent? e, i M“ly’i L%""“' Prew

b. Find A or B. What does the set represent? 9'%‘\‘(“2'{,“‘ ?‘?{Mm . ﬂSDl‘, J0e,s "

¢. Find (A and B)". What does the set represent? Mie U&Q _“

Ryan, Sowvedn, Vawiko, N, Oins R0

RRAT, T woun \ TOWI, e, (hoiee, A
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A random survey was conducted to gather information about age and employment
/ atus. This table shows the data that were collected.
‘@ Employment Survey Results

plo

an 18 8 or grea ota

Has Job 20 587 607
Does Not Have Job 245 92 337
Total 265 679 944
a. Whatis the probability that a randomly selected person surveyed has a job, 20 - —T
given that the person s less than 18 years old? avs 7153
b.

. Whatis the probability that a randomly selected person surveyed has a job
given that the person is greater than or equal to 18 years old?
. Are having a job () and being 18 or greater (B) independent events? Explain.

* PlA)=hasajob

* P(A") = does not have a job P(A ]B)-f: PU%:)

* P{B) = 18 years old or greater w@w@
o1 4 07 NOT (.
[

* P(B')=less than 18 years old

9ln Mr. Mabry’s class, there are 12 boys and ‘16 girls..On Mbnday‘, 4 boys andVS'giﬂs

were wearing white shirts. T )

a. Ifastudent is chosen at random from Mr. Mabry's class, what is the probability
'of choosing a boy or a student wgar!ng-avyhite;h_l_rt?

b. Ifa student is chosén ‘at randomfrom M¥. Mabiy's class, what fs.the probability
of choosing 3 girl or a student not-wearing a white shit?

M'P(BWPLW\-?Q@W\) p) PLa)HPlw’) -0Ca aw')
L. q 4[’/_7,9 7{%+%'E‘J§=%:¢@

®tiy-1€°
erry. has-a number cube with sides Jabeled 1 through 6. He rolls the humber cube:
twice.. ’ o )
a.” What is the probability that the sum:of the two rolis s a prime numfber-,vgiven
that at least one of the'rolls.is a
What is the probability that

b. the sum of the two rolls is'a prime number or at

least one-of the rolls is-a.37' I 1 % 4 ¢
Plnd $9(5) Mpeatd 113
Bk a2 {E] 3 G g
TR I N 3,718 ) v G ¢ : i
9l 7 $ a U
wv T A W o (p

r which set of probabilities would events A and B be independent?

A. PA)= 0.25; P(B) = 0.25; PAandB)=05
B. P(A) = 0.08; P(B) = 0.4; P(A and B)=0.12
C. P(A)=0.16; P(B) = 0.24; P(A and B)=0.32
I:D:l P(A) = 0.3; P(B) = 0.15; P{A and B) =0.045

(R)-PB)
° =PLRNR)

Assume that the following events are independent:

@ E | The probability that a high school senior will go to college is 0.72.

* The probability that a high school senior will g0 to college and live on
campus is 0.46,

What is the probability that a

high school senior will live on campus, given that
the person will go to college?

A. 0.26 . &
B. 0.33 (PQAVQ’\ QUMQ%J = (P(HVL A CO”””’)
—_—
PCcolleqe)
LS L (Y
10
—_—
O ) Mrs Kieln surveyed 240 men and 285 women aboit their vehicles. OF those
1 surveyed; 155 men and 70 ‘women said they own a red vehicle. If a person is
chosen at random from those surveyed, what Is the probability of choosing a-
woman:or:a person who does NOT own a red vehicle?
" 57 \n w
71 —
105 ped | 195 |0 |99
74 ’
o5 g s |0
b, B8 w1 o 029
P 105 QU a8

POW) +Plad) - P(W A ved')

0
20, w0 a1 310
79 T 515 T 5157 5.5
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janca spins two spinners that have four equal sections numbered 1 through 4.
If she spins a 4 on at least one spin, what is the probability that the sum of her

two spins Is an odd number? l
V

I A
2

A.

5[“*‘-“-‘

b 0
~N| B
_

0’3}““ letter of the alphabet is written on separate cards in red ink. The cards are
( ~1/placed In a container. Each letter of the alphabet is also written on separate

cards In black Ink. The cards are placed In the same container. What is the
probability that a card randomly selected from the container has a letter written
In black ink and the letter Is A or 27

- 55 P )+ Pl -PLBN hord)

- JTOC

Which triangle Is similar to the given trangle?

3 0. Bp TOO D% 5 T
v
at the triangle.
C@ight AABC with altitude BD.
77° B
- eA
! A
52+ A\’

Prove AABC is similar to ABDC. ~
® ®

L(/l/, LC
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W ich equation is true?

A. sind0° = tan50°
B. ¢0s40° = cos50°

L 1
C._$ind0° = sin50° e ol x>y =100

i c. (0,-10)
0540° = sin50° D. (-8,6)

ich point is NOT on a circle with a center of (0, 0) and a radius of 107

q /Iﬁé\ inate grid shows the graph of the quadratic function Az}
\_,Qldy the triangle. "i Ey
: Vi Laat)
—6-5-4-372-10 *
AN
57 /
- /LS :::l::uﬂmlnn of flx) can ba written In the form f{x) =a(x—h)* + k, where a, h, and k are ratlonal
2-\Y Part A
) ) = l/k ‘What are tho values of h and k?
Explain how you can:determine the value of sin-x: Use the word theta in your A h=-2andk=3
explanation instead of the symbol. Write ‘your answer on the lines provided. v :‘jf andk=6
in= 4
SinX= e
Which statement describes the value of a for the function f(x)?

A._The valua of a Is & number ass than -1.
he value of # 1s & number between -1 and O,
C. The value of 2 1s & number between O and 1.

LY O DR RN AN
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Points A, 8, C, D, and E are located on tha circle 0, as shown In this figure

The measure of D 1s 80", What Is the value of x?
A. 50

B. 40
C. 35

pyramid and a rectangular prism have congruent bases and equal helghts. Write
a statement comparing the volume of the figures, and explain your reasoning. Write

your answer on the lines provided. /hQ uoluunu & (S
Puramid PVigwm ] "
R (LA —_— Prisym Ww il e

\/: l/%%\/\ \/:6\/7 6 NI M VOl
bty e Pyvomich

@ich exi ression is equivalent to ~4J/28x « J7x2 2
B. 4x2J7 “H {1ap x4

C. —4x\/196 5
D. -28x Sy Ead)

-Sunt

o

ich value is an irrational number?
('A.. 4447 ;4—- hon ket SW@
B. 28
8.
D. /3-/3

C.

T
\—'Pét A: Explain how you could rewrite the expression 3x + 2(x> - 4x + 1) + 5x -2
to write it with the fewest number of terms. Write your answer on the lines provided.

Brr 2 2-%xF ZESK X Combine ke

(&ys‘) Fmns 3the
Loy # consSrant

4oy coonak.

Part B: How many non-zero terms does the expression from Part A rewritten with
the fewest number of terms contain?

4
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A professional weather balloon is 1

0 yards in di
sphere. What is the volume of the ameter. It is in the shape of a

weather balloon to the nearest cubic yard?
%
\z Ry
- Yy (9)
)
= a4

A. 59 cubic yards
B. 105 cubic yards

~ C. 294 cubic yards
D. 523 cubic yards

i)

Use this table to answer the question.

X f(x)
=2 | 15
-1 9

5
3
3

What is the average rate of change of x over the interval -2 <x<0?

(E_=5] i

0-"a

of)

There-are 52 cards In a deck. Each card in the deck Is numbered with the whole numbers 1 through
13. Each number appears on 4 cards in the-deck..A student draws a ¢ard from the deck and then
draws another card without replacing the flrst.

Write your answer in the space provided. u 4 _\L". _
_ B0 "8 - Iosx”
PartB Explain why plekinga 1 first and a 7 second are NOT independent events. Write your answer
In the space provided.

oo cdd not replace e
e \ess fotak

PartA What is the probability of picking a 1'6n the first draw and thena 7 on the second I r:\.t
J J

When rollng a falr, six-sided number cube, what is the probability of rolling an even
number or a number less than 3?

a3
: 13Dz PO +P(£2) -PLE 043D
vlevess L2 1
D.i w VARV
3 = K. e
L
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that you rolled an odd number?

What is the probability of rolling a 5 on a fair, six-sided number cube if you know

]

)

L)
k‘t)n/e bag of lawn fertilizer can cover a

Is about 500 square feet. Mike fertili;
About how many full
fertilizer?

' . 3years

C. Qyears
D. 10years

Sov0
2000

—

=

pproximately 5,000 square feet. Mike's lawn
zes his lawn an average of 4 times per year.
years will he be able to fertilize his lawn with one bag of

SOV E+T X H = 2000 6+

/1‘
o mueh

ol 1o
gﬁ lize e

25 s

How many zeros does this quadratic fu

nction have? Explain how you determined
your answer. Write your answer on th,

e lines provided.

f(x) = x* + 15x + 56
(DO
x=-9,"}

. iy bhas 2~
™ degre is T, SO

. v e
Shluhons. Tais  fonchion W(‘:ve b
Ao (XD Gt e,

ohy Your Solwnas Gure rood.

P\
S
parallelogram. Prove that the diag

onals of ABCD bisect each other and justify each step,
Write your answer in the space provided.

y A (2,
13 B ( 1, W
Z _ =ia C w2
ST D))
3] /
fD C

0 12345678910"

. — 1ty t2)-
Miopt of A= ( 7 Lt2)- (4.4)
Midpt 0 BD = ('7%140_;_1):(%@ \
Tne dogvotA \howe e o miupt, LW

Suwwos  Joar mﬂ Wiser eaon othur.
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Gro AB'C'D'F I a dilation of figure ABCDF by a scalo factor of =
. =+ The dilatI
ot (4, —1). 2 atlon is centered
triangle shown, GH || DF.
AR .
|8 | ]
et (o T
s
3 e o
5P -3P10 35 [
AR TR 117
2 — 1
5
e
Which statement is true?
What is the length of GE? er
A. 2.0 "6" = ;
C. 7.5 | g=H
D. 8.0
X—/ .
i In\""E i ﬁu Isan ¥ les triangle where ST is 0 UT. The lumn proof
- p shows that.£S Is congruent to £ U.
Y WO AN A
& (ovresy "9
G K
This ks a proof of the statement “If 2 line is parallel to one side of a triangle and Intersects the
other twa sides at distinct points, then it separates these sides Into segments of proportional S v 7]
lengths ®
Step Statement Reason Step Statement Reason
1 | &K s paretiel to 1. | Given 1 |ST=UT Given
LIGK = £11) -
2 ? i
2HG = LUH 2 rco?zm.zé ?;zr;g'siub‘mmr Every angle has a bisector.
3 | aeK~omy AA Similarity i .
i 3 | LSTV=2LUTV Definition of an engle bisector
. |Ex Comesponding sides of similar triangles pre LNE ‘ g
WU proportional. 4 |IV=TV Reflexive Property of Congruence
5 |HEHZEE | sepment addtion Fostule 5 | Astve aury SAS
6 %-’-:7‘ Subtraction Property of Equaiity 8 |sEsau ?
Which reason Is missing in the proof?
Which reason justifies Step 27
Alternate Interlor anglos are congruont. mm
:Mmm:mmmwsnm H. Rollexive Praperty of Congruence
angles are congruent. C. Definition of right angles
D. Vertical angles are congruent. D. Angle Congruence Postulate
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Which statement BEST describes the graph of f(x + 6)?

A. The graph of f{x) is shifted up 6 units.
The graph of f{(x) is shifted left 6 units.
C. The graph of f{x) is shifted right 6 units.
D. The graph of f{x) is shifted down & units.

. Which statement BEST describes the comparison of the functlion values for f(x) and g(x)?

X f(x) £(x)
0 0 10
+
1 2 9
2 4 -6
Y(
3 8 -1 nl
4 8 6 |

10 1% '
A. The values of f(x) will always exceed the values of g{x). +ae
B. The values of g(x) will always exceed the values of f{x). Y]
C._The values of f(x) exceed the values.of g(x) over the interval [0, 5].
‘E} he values of g(x) begin to exceed the values of f(x) within the interval [4, 5).

(M)

a=)

In a parti state, the first character on a ficense plate is always a letter. The last character is
always a digit from O to 8.

If V represents the set of all license plates beginning with a vowel and O represents the set of all
license plates that end with an odd number, which license plate belongs to the set V and 0'?

v v

Voo
[)E23 PC8 s o
. [MG4 3F5
- |AR8 8X9
P7M Z56

m two shapes are shown.

12 i;[hes 12.inches
o l J' 5 Inches

}—10 inches—]| 5inches

How many times the volume, In cublc-inches, of the pyramid Is the volume, In cubic Inches, of the
cone? Round your answer to the nearest tenth. Explain how you found your answer or show your work.

Write your answer in the space provided.
rite I ml;\ provided. wm(d: '/55% B= L0
ond= 1ol pu LD =57
- Y& U%) 2 \
- 1oin = [uoin

Te Cove is Tl Hnes pre  ywlwme ot

e puramid -
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lon with a domain of aj Positive Integerg?

A. the distance.a runner has moved duﬂng arace
the race started '

of time the computer s on
D. the amotint o

in.that Includ, a0
negative real ny and

Select the situation that could be modeled by a function with ad
mbers,

A. the height of a plant 3s a functioh of time since the séed was planted

B. the e!evauor_x of a hiker as a function of the number of steps taken

C. the temperature as a function of the time of day

D. the-amount.of time required to read a book as a function of the humber of words

in the book

lhe»am;)unt of precipitation as a function of the outdoor temperature

The table defines a quadratic function.

X
A
ENER
1 [
’ 3|1

What is the average rate of change between x = -1 and x = 17

Study t!_ﬂ_s equation of a clrcle.

x2—6x+y2+2y+6=0

Which of these represents the center and radius of the circle?
“A.. genter:.(3; ~1), radius: 4 9 \ =+
B. center: (-3; 1), radius; 4 Xl’ v X+—i )Y\‘)) +'l\3¥ ™
center: (3, ~1), radius: 2. |
D.. center; (=3, 1), radius: 2

(x-3) FlyrD >4

dended ComVudedResponse

PartA  What are the zeros of the function flx) = x2 - 6x + 82 Explain how you determined your
answer. Write your answer In the space provided.

PartB  Explaln how you know that the function g{x) = x2~ 6x + 10 has a minimum value-and not

a maxi value. Find the mini | value of the funiction. Write your.answer in the space
provided.

A W-xt1-0
(K- N=0
X=2)H

A. undefined —1-5 —6._ _ . plc the
: " \":[ =53 B) Y-Lxx10 has a mm}mwu\ihwm“’“
# 3 |- 1S pusinve t%mm. . adut 1S
- Vo | /v e mlmwu[:{_i]
c. -3 ( -
OpUNS up . -
- =t . b2 :w)yro |
00 F A-1¢+10 = 1
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Which statement BEST describes point §?

A. Point Sis located such that SC = PQ.
B. Point Sis located such that SA = PQ.
c Point S is located such that PS = BQ.

mt S is located such that' QS = PS.

Step Justification

1| L2=/4 ?

2 | £3=45 ?

Which justification can Jessie give for Steps 1 and 27

Lﬂmlemale Interior angles are congruent.
B. Corresponding angles are congruent.

C. Vertical angles are congruent.
D. Altemate exterior angles are cangruent.

m\

/%)

\
aquarium. a tank is being constructed in the shape of a rectangular prism. The tank will be Mdma ¢ould'be BEST By a guaceall
igned to meet the f g requirements. A 8. y

y
* The tank will have a capacity of 120 cubic feet of water. 7 7 T 1
* The tank will be 4 feet high. 6 6 o
* The length of the tank will be 3 feet greater than Its width. 5 S Y Wl ®

4 b T
What is the width, to the nearest hundredth of a foot, of the tank? 3 . : o o ly »

2 . .l .

&
] A-:D 1 o ! 1 7
B. 9.56 \(:MV\ o N x [ 111 -
C. 3.16 0 12345678 0 12345678
D. 4.63 - .
1o - W £5)U)H) l - ] { ’
7 7
. * on
— l 6 6
a2 w 20 L2
0= Yw? +1o : Ty HE
4 rY
O A cs |
q(w9‘+‘bvo 5 -5 A
f o ® 9."' 1 : ,I.f... 1
*le . 2 x
4 L{(l}L’SD‘) L[—lg 0 12345573" ¢ 12345678

2010 X

Scanned by CamScanner



